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𝐼_𝑉𝑈𝐿 =
𝐼_𝑃𝑂𝐵𝑇𝑂𝑇𝑖

9
+

𝐼_𝑃𝐸𝐼𝑖

9
+

𝐼_𝑉𝑃𝐻_𝑆_𝑆𝐸𝑅𝑉𝑖

9

+
I_VPH_PISOTI𝑖

9

+
I_P_0A4_60YMA𝑖

9

+
I_GRAPRONOES𝑖

9
+

I_PSINDER𝑖

9

+
I_VPH_SINBIEN𝑖

9

+
I_PCON_LIM𝑖

9





I_POBTOT𝑖 =
POBTOTi − POBTOTmin

POBTOTmax − POBTOTmin

I_PEI𝑖 = 1 −
PEAi

POBTOTi

I_VPH_S_SERV𝑖 = 1 −
VPH_C_SERVi

VPHi

I_VPH_PISOTI𝑖 =
VPH_PISOTIi

VPHi

I_P_0A4_60YMAS𝑖 =
P_0A4_60YMASi

POBTOTi

I_GRAPRONOES = 1 −
GRAPROESi − GRAPROESmin

GRAPROESmax − GRAPROESmin

I_PSINDER𝑖 =
PSINDERi

POBTOTi

I_VPH_SINBIEN𝑖 =
VPH_SINBIENi

VPHi

I_PCON_LIM𝑖 =
PCON_LIMi

POBTOTi
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𝐷𝑖 =
𝐷(𝑃𝑖 − 1) + 𝐷(𝑃𝑖)
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